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PII T132 PHARMACT]

I NS'I'RUCTIONS

. 'l'hcrc are fourqllcstior.ls in A. B and C parts of the SIr.Q paper.
o Answer cach part in a separate booklet.
o No paper should be removed from the examinatiorr hall.
o I)o not use any correction fluid.
. [Jse illustrations where necessary.

PAIII'A

I .l . [)ellrre thc tcrnr "micrometrics"

N - NOVUM T]R/DI.]CIiMB

TIME:'l'W

lndcx no:....

(10 mtrks)

F- AI,I.,I

DEPAR'T'M T.]NT OT' PIIARMA

( j r.

1.2. I-ist trvo mcthods which are used to dctermirle the surfacc area ola parliclc.

( l0 morks)

(

I .J. Brictly explain the lbllowing nrcthods used to determirre the particle sizc.

I.3. L Sieving (25 marks)

G6

iences

"*'i[#ffiffi',,,..



1.3.2. Particle volumc measurement

1'4. Brietly cxplain the effbct of urinary pl-l on therapeutic efficacy 6f a nredicine.

(25 murks)

(30 morksT



(

)

K

2'l' I-ist two nredical devices which are used to nreasure liquid dosagc lb.,s.

(10 marks)

2'2' Discuss fivc patient I'actors wliich al'tbct lbr appropriate dose sclectio,. (40 morks)

tos



(

2"1' n physiciarl orclers 2 nrg of ampicilli, to bc added to cach rriiliriter of a 250 ,rr botlrcof 5%o dcxtrose in water 1br intravenoLrs infusion.
2'3'1' I-low r,any ,illigrams of ampicillin srroLrrd be adcied to 250 rrr bortre or- 5ohdextrosc?

(10 morks)

(

2'3'2' If the 250 nrl of solution represents intravenous dose a^d if thc strcngth of

:ffi, ],|;:".,::r:'"" 
is 25 mg/kg or bodv weighr, determine rrre parienl body

(10 marks)

/



2.4. Prior to hip rcplacement surgcry. a patient receivcs an iniection o{. an

d*rg at a dosc of 30 mg. rroilowi.g thc patient's slrrgery. trre d*rg is
nrg/kg. [)etennine the pre a,d post-s,rgical doscs fbr a patierrt wcighi,g

anticoagr-rlant

injccted at I

r40 tb.

(15 morks)

(r

2.5. Il'the adult dose of a drug is 75 mg. what would be thc dosc ibr a child with weiglit
ol4t) lb (1 kg z2.2lb) and height in 32 inches using the body surfbce area nomograrl
give'n below? Note: I)rawing on trrc nomogram is esscntiar, average body sLrrf-ace

arca olarr adult is 1.73 ,.,.,'. I kg =2.21b. (ls morks)
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PAR'I'B

3.

i.l. Def-rnc the ternl "pharmacist" (10 murks)

3.2. Nisal is a 4-years-old baby and he is prescribed 5 rnl

120 mg/5 ml) every 6 hours for three days to treat l-ris

dose of paracetamol will consume during the course

answer in granrs.

paracetamol sYruP (strcngth is

l'ever. Calculate thc nraxitlunr

of the treatnrent? l'.xPress the

(30 murks)

43

Q

(



i"l' According to the Avoirdrrpois System carcurate how nrLrch grairrs (gr) contairs in ?
pounds (lb)? l'he relatiorrship between grains and ponds is. r pound , 70001qrains.

( I 0 marks)

((
'l +' Brie.ry describc three responsibirities of,commurity pharnracists.

(30 morks)

(t



3.5' Bricfly explain two importin.., of infbrmation sources in phanrracy practiccs.

(20 morks)

(
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PAR'I'C

4.1. Loratadine is an oral drr,rg. According to its chenrical nature it is a weak base and pKa

is 5. Answcr the lbllowings questions.

4.l .l . Calculatc the o/o ionization in stornacli (pl I , 2). (20 marks)

((

4.1 .2. Calcr-rlate lhe o/o ionization in intestine (pll : 8). (20 marks)

((

.r.J

9



Based on your calculation. f-rom where do you tlrink the most o1' the

loratadine will be absorbed? (10 morks)

+.2. n.nn. fbllowing terms.

4.2.1. A supersaturated solution. ( l5 morks)

(r

4.2.2.'[or-ricity. (15 marks)

11



4.3. Dillbrentiate betwecn "adsorption" and "absorption', processes. ( 20 murks)

(,

rtD@@(A@r@@@@@

L2

\/


